
13 LOCK STOP NUT NYLOC DIN 985-8 M8x1.25 212 LOCK STOP BOLT ISO 4014 BOLT M8x50 10.9 211 LOCK STOP WASHER -SERRAGATED DIN 9250 M8 410 LOCK STOP 19 ROD END SPACER 28 QA1 PCML12T BOOT 17 ROD END PCML12T-E L/H THREAD 13 ROD END JAM NUT 3/4-16 ASTM A563 L/H THREAD 12 OEM TYPE BALL JOINT 11 BUDGET LOWER CONTROL ARM BODY 1PC NO COMPONENT NAME QTY

BUDG-0025BUDG-2045BUDG-4065

TIGHTEN TO 46-52Nm (34-38 lbs-ft)(DO NOT SPIN THE BALL JOINT)

TIGHTEN TO 20-29Nm (14-22 lbs-ft)
TENSION ROD - TIGHTEN TO 88-108Nm (65-80 lbs-ft)

TIGHTEN TO 55Nm (40 lbs-ft)

PRESS FIT - RUBBER BOOT TO BE REMOVEDWHEN PRESSING IN THE BALL JOINT

ADJUST STEERING ANGLE LIMITING BRACKET TO TOUCH THE OUTERTIE ROD END BEFORE FULL LOCK. ADJUST TO AVOID STEERING BIND

CYLINDRICAL ELONGATED HOLE FOR OFFSET MOUNTED HIGHCLEARANCE TENSION RODS AND TENSION ROD MISALIGNMENT

TIGHTEN TO 88-108Nm (65-80 lbs-ft)

TIGHTEN TO 96-120Nm (71-88 lbs-ft)(DO NOT SPIN THE BALL JOINT)TWO MOUNTING POSITIONS FOR ANTI-ROLL BARSTIFFER: WHEEL SIDESOFTER: CHASSIS SIDE
CAN ALSO BE USED TO REDUCE MISALIGNMENT

TIGHTEN TO 170-190Nm (125-140 lbf-ft) (USE CROW FOOT WRENCH) 1

2

3

9
9

10
11

11

12

1313

7

8

INSTALL RETAINING RING AFTERPRESSING IN THE BALL JOINT

12

CHECK FOR ROD END BEARING ALIGNMENTAFTER TIGHTENING THE ADJUSTING MECHANISMROD END TO BE PERPENDICULAR TO THE SPACERS
CRITICAL!


